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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.

N

Attempt all questions.

(VD]

All questions carry equal marks.

4. Answers may be written either in English or Hindi;
but the same medium should be used throughout the
paper.
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1. (a) Explain the difference between active investment
and passive investment. What type of investing is

appropriate in an efficient market. (8)
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(b) Explain the meaning and role of following market

participants (i) Speculators, (ii) Arbitragers. (7)
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OR

(a) What are different types of investors? Explain in

detail. (8)
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(b) What is systematic risk? How is it different from

unsystematic risk? (7)
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2. (a) Discuss in bricf the various economic indicators
and their impact on expected direction of movement

of stock prices in Indian context. (8)
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(b) “Company analysis is the assessment of strength

and weaknesses of a company”. Explain. (7)
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OR

(a) What is the difference between fundamental

analysis and technical analysis? (8)
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(b) Explain the meaning and significance of the
following terms (i) Double top pattern, (ii) Head
and shoulder chart pattern. (7)
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3. (a) What do you mean by credit rating? What are the

advantages and limitations of credit rating

agencies? (8)
Bt W ¥ 3w T wER 27 Wl W wka =
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(b) How is industry analysis performed? What is the
significance of industry analysis? (7)
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Explain the efficient market hypothesis and the three
forms of market efficiency, What is the basic ides

behind the efficient market hypothesis? (15)

’

(a) List out different types of bonds and explain
them. (8)
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(b) What is a portfolio? How is the portfolio return

and risk calculated for a two-security portfolio?

(7)
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OR

(a) Mr. Sunil has required rate of return of 15%.

He has made investments in the shares of ABC
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Ltd. Using Gordon’s Model find the value of the
share if EPS is Rs. 10, Return on Investment is

20% and retention ratio is (i) 0%, (ii) 40%, (iii)
60%. (8)
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The expected return and risk of security A are
12% and 18% respectively. The expected return
and risk of security B are 15% and 25%
respectively. The coefficient of correlation
between the returns of A and B.is 0.5. What will
be the expected return and risk of portfolio if the

investor has decided to invest 75% in security A

and 25% in security B. )
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What do you mean by business valuation. Explain the

various approaches to business valuation. (15)
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OR
Write short notes oh any three of the following :
frfofag & & sl o9 w aftrm ot forRaw
(i) Mutual Funds
YA S
(i) Insider trading
Faan AT
(iii) Effective annualized return
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(iv) Holding period return
Bifesn s@afy Rew
(v) P/E Ratio

P/E

(5%x3=15)

(100)
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